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Questions

In human which process occurs in alveoli?

Every year "World Day" is celebrated on:

Total chemicals in tobacco smoke are:

How many carciogens are present in cigarette smoke?

The respiratory disease that is the destruction of the walls of Alveoli is;

Which disease is involved in the breakdown of air sacs of the lungs?

Which diisease is caused by Streptococcus pneumoniae:

The inflamation of bronchi or bronchioles is caled:

Cutting of walls of Alveoli called:

The rate of breathing at rest in human is:

The rate of breathing during exercise or other hard:= physical work is:

Gaseous Exchange in cow takes in:
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. Tranport

Nutition

Gaseous Exchange
Reproduction

31 May
30 May
31 March
21 March

1000
2000
3000
4000

.40
. 50

.60
.70

. Asthma
. Pneumonia

. Emphysema
. Bronchitis

. Bronchites
. Emphysema

. Pneumonia
. Asthema

. Bronchites
. Emphysema

. Pneumonia
. Asthema

Bronchites

. Emphysema

. Pneumonia
. Chest box

. Pneumonia
. Emphysema

. Bronchtis
. Asthama

. 16-20 times per minute
. 70-80times per minute

. 80-100times per minute
. 10 -20 times per minute

. 10-20 times
. 20-30 times

. 30-40 times
. 40-50 times

. Bronchi

B. Tranchea

C
D

. Pharynx
. Alveoli



